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ORAN-ORANTI TEST: 1
ÇÖZÜM

ORAN-ORANTITEST: 49
ÇÖZÜM
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cevap: b
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cevap: b
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a = 10k, b = 25k, c = 6k alınırsa 
a + b + c = 205
10k + 25k + 6k = 205
                  41k = 205
                      k = 5 bulunur.
Buna göre, b = 25k
                      = 25⋅5
                      = 125 dir.

cevap: c 
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x + y + z = 18k + 2k + 15k

               = 35k (k = 1)

               = 35 dir.

cevap: c
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cevap: e
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cevap: b 
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cevap: a
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Buna göre,

a = 4k

   = 4⋅9

   = 36 dır.

cevap: e
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a = 8k,    b = 6k,    c = 9k alınırsa

            2a – b + 3c = 74

2⋅(8k) – 6k + 3⋅(9k) = 74

      16k – 6k + 27k = 74

                        37k = 74

k = 2 bulunur.

c = 9k = 9⋅2 = 18 dir.

cevap: c

14.	 a b c
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2 5 4
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a = 2k, b = 5k ve c = 4k

3a + 2b – c = 48

6k + 10k – 4k = 48

                12k = 48 ⇒ k = 4 bulunur.

b = 5k = 5⋅4 = 20 dir.

cevap: d
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a = 2k   ,   b = 6k   .   c = 15k alınırsa

        a + b + c = 115

2k + 6k + 15k = 115

                23k = 115

                    k = 5 bulunur.

a + c = 2k + 15k

         = 17k

         = 17⋅5

         = 85 dir.

cevap: E
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cevap: c 
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20.	 3
2 4 3
x

y ve
y z
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3x = 2y   ,   3y = 4z

3⋅(3x = 2y)   ,   2(3y = 4z)

9x = 6y   ,   6y = 8z ise

9x = 6y = 8z dir.
  ↓      ↓     ↓
 8k    12k   9k

Buna göre,      x + y + z = 8k + 12k + 9k

                                      = 29k

k = – 1 alınırsa

x + y + z en çok – 29 bulunur.

cevap: a




